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1.- [20 points] Using the Tiny computer assembly language, write a program that computes the following expression: z ( a * b * c. The computer will read in the input values a, b, and c   from the keyboard, and  the final result (z) have to be displayed.  In addition, every time an input value is read in, it must be displayed on the screen. Remember that the instruction set does not have an instruction to execute multiplication. 
2.- [20 points]Divide the program written in question one into pages (each page can store 3 instructions) and change the absolute addresses to the page-displacement scheme.
3.- [20 points]What is Virtual Memory and how it is implemented.
4.- [20 points] How many I/O operations are executed  when there is a miss in the TLB?
5.- [20 points] Consider a paging system with the page table stored in memory.

a. If a memory reference takes 200 nanoseconds, how long does a paged memory reference take?

b. If we add associative registers (TLB), and 75 percent of all page-table references are found in the associative registers. What is the effective memory reference time? (Assume that finding a page-table entry in the associative memory takes zero time, if the entry is there.).

Submit in class

1.- A word document with the answers to question 1 to 5.

